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Maple and Laplace
Math 2250-3

=~ with(inttrans); #integral rransform library
[addtable, fourier, fouriercos, fouriersin, hankel, hilbert, invfourier, invhilbert, inviaplace,
invmeliin, fapiace, mellin, savetable]

s ¥o=s-»120/( (87249} % (g"2+4) % (872+1) )

Viss-»120%{g"2+3)} /({87249 F (87 2+d)* (87241}

120
(S +0 T+ s+ 1)
120 (s” +3)

(5 +9)(FFN T+ 1)

X=5-

Y= 53

> invlaplace(X{s), 8, t
invliaplace{¥Y(s}).,s.t)
—4 sin{2 1)+ 5 sin{N)+sin3 1)
—6sin(3 13+ 4 sin(2 N+ 16 sin()
> convert (X{s),parfrac,s}:
convert (Y(s),parfrac,s);
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» laplace{t*cos(k*L),t,s);
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